THE DISADVANTAGE

A disadvantage is an argument stating that if we adopted the policy (plan) of the other team something bad would result.  Disadvantages (also called "DAs") are negative arguments that prove the effects of the plan would be bad. Thus, the disadvantages are compared to the advantages to decide whether the effects of the plan are more disadvantageous than advantageous. 

HOW TO STRUCTURE A DA:

First, it is helpful to give the DA a name so if you run more than one in the round everyone is clear what you and your partner are referring to in later speeches. 

(A) Uniqueness: The uniqueness states that this problem will not happen in the future, or is happening now. This is referred to as the status quo, or what is going on right now.  Basically it just tells the judge that the DA will not happen unless the Aff plan is passed.

(B) Link: The reason or reasons why adopting the Aff plan would cause a change from what is going on in the SQ. 

(C) Internal Link:  This card or cards fills in the gap between the link and impact.  If the link tells us how the plan changes something, the internal link explains the steps that take us to the impact.    For example, if you are running an econ or spending DA, the link will be that the plan costs money, the internal link will provide how the increase in cost will hurt the economy.

(D) Impact: what it is that is bad and will happen, and how bad it is.  Generally you will want a real world impact and a terminal impact.  The real world impact is something that the average person could see happening.  The terminal impact will be something like nuclear war or genocide.

KICKING OUT OF DISADVANTAGES

Sometimes you offer a disadvantage and the affirmative has great answers. Don't waste your time trying to win this disadvantage if their answers are excellent. If you "kick out” of a disadvantage you strategically concede it so that it is no longer in the debate and you can focus on better arguments.

1. If they have great answers, don’t waste your time...kick out of it in the 2NR.  Never kick a DA before that.

2. Kick out specifically and on purpose...tell the judge you are doing it. It makes you look strategic.

3. If you kick out of disadvantages with turns on them, you will lose. When the affirmative turns the disadvantage it is an independent reason to vote for them. You can't just concede the disadvantage, or you will lose the debate. THE NEGATIVE TEAM MUST NEVER DROP THE TURNS ON THEIR DISADVANTAGE!  If you have DA that the affirmative has tried to turn, first quickly (10-15 seconds) explain why they are losing the turn, then kick the DA.

ARGUING DISADVANTAGES ON THE NEGATIVE

Effective argumentation of a DA requires a few things.  You will need a recent (w/in 2 weeks) uniqueness card.  This means you will need to spend time finding new uniqueness cards before each tournament.  Whoever wins the uniqueness battle controls the direction of the link.  That means, if you don’t win uniqueness you won’t win that the DA won’t happen in the SQ also.  In other words, if they can show the DA is not unique, then the DA is moot because it will happen in the SQ since they now control your link and impacts.

The link and internal links are a different story.  All you have to win is that there is a risk of the link.  If the Aff reads cards against your link or internal link, you should argue that there is still a risk that the link will happen.  If there is any risk of the link, then you still can access your impacts, albeit to a lesser degree.  In other words, if you have 20% of your link left, you can access 20% of your impacts.  (you generally won’t use numbers like that round since they are completely arbitrary)

As for the impact, you want to use your DA impacts to weigh them against the Aff case.  You want to prove that your impacts are more severe.   If both and the Aff and Neg have the same terminal impact you want to argue that your solvency attacks (which hopefully you have run) mitigate the impact of their impacts and thus yours outweigh.  Further, you can argue timeframe- that your impacts will happen first.    This impact discussion is called the impact calculus and should be done in the 2NC and 2NR (for DAs you are going for).
AFF ANSWERS TO DISADVANTAGES

Every disadvantage is like a chain of reasoning. It starts with the link and ends with the impact. Like any chain, it is only as strong as its weakest link. You only need to break the chain at one critical point to defeat the disadvantage.  You should try to do as many of these as possible.

1. Prove the DA is Non-Unique.  Read cards showing the opposite of their uniqueness.  So, if they say the economy is good now, you want to read cards that say the economy is bad now.  You ideally want your cards to post-date the negative’s cards, but you can still win the uniqueness debate by reading cards with better warrants.  The non-unique argument states that the problem the DA presents will happen anyway in the status quo. If it were to happen anyway, it doesn't matter if the affirmative plan causes the problem or not. Before each tournament you want to find cards written in the last two weeks to serve as non-unique for the common DAs run against your Aff case.  

2.  Prove there is no link to the Aff case.    These are simply labeled as no-links.  Here you will read cards saying that that the affirmative plan doesn't actually cause change presented in the link.  You can also read cards against the internal link showing that the chain of events presented there will not happen.  Finally, you can use logic to show that the link or internal link just doesn’t make sense, you can read as many no-links as you have.

3. Link Turn.  If the link is backwards, if you can argue that the plan will stop the problem, then you can argue the link goes the other way and make the DA an advantage to case.  You need to win the uniqueness debate for this to win.  If you do this, you should only run uniqueness, the link turn and mitigate the impact. 

4. No Internal Link.  If they are missing some crucial logical step, you can point this out and explain why they can’t prove that they will be able to access the impact.

5. Disprove impact or mitigate the impact.  This states that the problem the DA presents is not serious or harmful. You can also read cards that their impact will never happen.  

5.  Impact turn.   The impact turn states that the impact the DA presents is actually a good thing.  For example if they are arguing hard power is bad, you may want to read cards that hard power is actually good.  If you have an impact turn, then you can tell the judge that the DA now becomes another advantage to the Aff case.

6. Impact is not intrinsic.  Here you would argue (by reading cards) that other forces would intervene to stop the impact from taking place.  For example if the impact dealt with the environment, you might read a card saying that other countries will step in to save the environment.

7. Case outweighs.    If the impact of the disadvantage is smaller than the advantage of the plan, then even if the disadvantage were true you would still adopt the plan.  Same is true if the advantage of the plan would happen sooner.  ALSO MAKE SURE TO PULL THROUGH ALL OF YOUR ADVANTAGES, EVEN ONES THEY HAVE NOT ARGUED.

IF A NEG KICKS OUT OF A DA, LET THEM; DON’T BOTHER TALKING ABOUT IT, UNLESS YOU HAVE TURNED THE DA (LINK OR IMPACT), THEN TELL THE JUDGE THAT IT BECOMES ANOTHER ADVANTAGE TO THE AFF CASE

